
2𝑐𝑚 2𝑚

2𝑐𝑚
3𝑚

Square Rectangle
𝐴 = 𝑙 × 𝑤
𝐴 = 2 × 3
𝐴 = 6𝑚ଶ

𝐴 = 𝑙 × 𝑤
𝐴 = 2 × 2
𝐴 = 4𝑐𝑚ଶ

𝑝 = 𝑙 + 𝑙 + 𝑤 + 𝑤
𝑝 = 2 + 2 + 3 + 3
𝑝 = 10𝑐𝑚

𝑝 = 𝑙 + 𝑙 + 𝑤 + 𝑤
𝑝 = 2 + 2 + 2 + 2
𝑝 = 8𝑐𝑚

𝐴 =
𝑏ℎ

2
⎯⎯⎯

𝐴 =
5 × 3

2
⎯⎯⎯⎯⎯

𝐴 = 7.5𝑖𝑛ଶ

𝑝 = 𝑎 + 𝑏 + 𝑐
𝑝 = 2 + 4 + 5
𝑝 = 11𝑖𝑛

5𝑖𝑛

3𝑖𝑛
4𝑖𝑛

Note: Not true triangle 

2𝑖𝑛 3𝑓𝑡 𝐴 = 𝜋𝑟ଶ

𝐴 = 𝜋(3)ଶ

𝐴 = 9𝜋 𝑓𝑡ଶ

𝐴 = 28.27 𝑓𝑡ଶ

𝐶 = 2𝜋𝑟
𝐶 = 2𝜋(3)
𝐶 = 6𝜋 𝑓𝑡
𝐶 = 18.85 𝑓𝑡

𝑇𝑒𝑟𝑚𝑠 𝑜𝑓 𝜋

6𝑓𝑡

Cube

3cm

3cm

3cm

3cm9𝑐𝑚ଶ

𝑆𝐴 = 9𝑐𝑚ଶ + 9𝑐𝑚ଶ + 9𝑐𝑚ଶ   …
𝑆𝐴 = 54𝑐𝑚ଶ

4cm

2cm
3cm

Prisms :

4cm

3cm

2cm

Base
12𝑐𝑚ଶ

8𝑐𝑚ଶ

6𝑐𝑚ଶ

12𝑐𝑚ଶ

8𝑐𝑚ଶ
6𝑐𝑚ଶ

𝑆𝐴 = 12𝑐𝑚ଶ + 12𝑐𝑚ଶ + 8𝑐𝑚ଶ + 8𝑐𝑚ଶ + 6𝑐𝑚ଶ + 6𝑐𝑚ଶ

𝑆𝐴 = 52𝑐𝑚ଶ

3cm

8cm

28.3

28.3

8

18.84𝑐𝑚

Area = 𝑙 × 𝑤
      A = 18.84 × 8                
      A = 150.7

Cylinder 

𝑆𝐴 = 28.27 + 28.27 + 150.72
𝑆𝐴 = 207.26 𝑐𝑚ଶ = 66 𝜋 𝑐𝑚ଶ

Notice: the 
width of the 
rectangle is the 
circumference 
of the circle.

Triangular 

8cm

3cm

5cm

6cm
5cm

5

6

3
8

12𝑐𝑚ଶ

30𝑐𝑚ଶ48𝑐𝑚ଶ30𝑐𝑚ଶ

𝑆𝐴 = 12𝑐𝑚ଶ + 12𝑐𝑚ଶ + 30𝑐𝑚ଶ + 30𝑐𝑚ଶ + 48𝑐𝑚ଶ

𝑆𝐴 = 132𝑐𝑚ଶ

12𝑐𝑚ଶ

3

4

𝑎ଶ + 𝑏ଶ = 𝑐ଶ

Rectangular 

5

𝑉 = (𝑎𝑟𝑒𝑎 𝑜𝑓 𝑏𝑎𝑠𝑒) × (ℎ𝑒𝑖𝑔ℎ𝑡)
𝑉 = (𝑙𝑤)ℎ
𝑉 = 3 × 3 × 3
𝑉 = 27𝑐𝑚ଷ

𝑉 = (𝑎𝑟𝑒𝑎 𝑜𝑓 𝑏𝑎𝑠𝑒) × (ℎ𝑒𝑖𝑔ℎ𝑡)
𝑉 = (𝑙𝑤)ℎ
𝑉 = 5 × 4 × 3
𝑉 = 60𝑐𝑚ଷ

𝑉 = (𝑎𝑟𝑒𝑎 𝑜𝑓 𝑏𝑎𝑠𝑒) × (ℎ𝑒𝑖𝑔ℎ𝑡)
𝑉 = (𝜋𝑟ଶ)ℎ
𝑉 = (3.14)(3)ଶ(8)
𝑉 = 226.19𝑐𝑚ଷ

𝑉 = (𝑎𝑟𝑒𝑎 𝑜𝑓 𝑏𝑎𝑠𝑒) × (ℎ𝑒𝑖𝑔ℎ𝑡)

𝑉 = ቆ
𝑏ℎ

2
⎯⎯⎯ቇ × (𝐻)

𝑉 =
(8)(3)

2
⎯⎯⎯⎯⎯⎯× (10)

𝑉 = 120𝑐𝑚ଷ

Missing Dimensions :

𝐴 = 8𝑚ଶ

𝑙 = 2

2𝑚

    𝐴 = 𝑙𝑤
    8 = (2)𝑤

    
8

2
⎯⎯=

2𝑤

2
⎯⎯⎯

4𝑚 = 𝑤

Composite Shapes :

2𝑚
Semi-
circle/
Square

𝐴 = 𝜋𝑟ଶ

𝐴 = 𝜋(1)ଶ

𝐴 = 𝜋 𝑚ଶ

𝐴 = 3.14 𝑚ଶ

𝐴 = 𝑙𝑤
𝐴 = 2 × 2
𝐴 = 4𝑚ଶ

𝐴்௢௧௔௟ = (4 + 𝜋)𝑚ଶ

      𝐴் = 7.14 𝑚ଶ

  𝐴 = 𝜋𝑟ଶ

9𝜋 = 𝜋𝑟ଶ

   9 = 𝑟ଶ

√9
⎯⎯ 

= ඥ𝑟ଶ
⎯⎯ 

   𝑟 = 3

𝐴 = 9𝜋 𝑚ଶ Divide both 
sides by 𝜋
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𝑆𝐴 = 𝑆𝐴ଵ ± 𝑆𝐴ଶ
∗

𝑉 = 𝑉ଵ + 𝑉ଶ

Missing Dimension :

15 cm
𝑙

8 cm

𝑆𝐴 = 700 𝑐𝑚ଶ    𝑆𝐴 = 2𝑤𝑙 + 2ℎ𝑙 + 2𝑤ℎ
 700 = 30𝑙 + 16𝑙 + 240
−240                        − 240
   460 = 46𝑙

   
460

46
⎯⎯⎯ =

46𝑙

46
⎯⎯⎯

     10 = 𝑙
       𝑙 = 10 𝑐𝑚

𝑙

15

8

8

120

120

15𝑙

15𝑙

8𝑙8𝑙

𝑉 = 1200 𝑐𝑚ଶ

       𝑉 = (𝑎𝑟𝑒𝑎 𝑜𝑓 𝑏𝑎𝑠𝑒) × (ℎ)
       𝑉 = 𝑙𝑤ℎ
1200 = 15(8)𝑙
1200

120
⎯⎯⎯⎯⎯=

120𝑙

120
⎯⎯⎯⎯

         𝑙 = 10𝑐𝑚
𝐴஻௔௦௘ = 150 𝑐𝑚ଶ

       𝑉 = (𝑎𝑟𝑒𝑎 𝑜𝑓 𝑏𝑎𝑠𝑒) × (ℎ)
1200

150
⎯⎯⎯⎯⎯=

150ℎ

150
⎯⎯⎯⎯⎯

        ℎ = 8𝑐𝑚𝑠 = 5 𝑐𝑚

3 cm

𝑆𝐴 = 𝜋𝑟ଶ + 𝜋𝑟𝑠
𝑆𝐴 = (3.14)(3)ଶ + (3.14)(3)(5)
𝑆𝐴 = 28.27 + 47.12
𝑆𝐴 = 75.40 𝑐𝑚ଶ = 24𝜋 𝑐𝑚ଶ

Cone

ℎ = 4

𝑎ଶ + 𝑏ଶ = 𝑐ଶ

          𝑏 = 4

𝑉 =
1

3
⎯⎯× (𝑎𝑟𝑒𝑎 𝑜𝑓 𝑏𝑎𝑠𝑒) × ℎ

𝑉 =
1

3
⎯⎯× (𝜋𝑟ଶ) × ℎ

𝑉 =
1

3
⎯⎯× ൫(3.14)(3)ଶ൯ × 4

𝑉 = 37.7 𝑚ଷ = 12𝜋 𝑚ଷ

Composite Shapes

Sphere

5 km

𝑉 =
4

3
⎯⎯𝜋𝑟ଷ

𝑉 =
4

3
⎯⎯(3.14)(5)ଷ

𝑉 = 523.6 𝑘𝑚ଷ =
100

3
⎯⎯⎯ 𝜋 𝑘𝑚ଷ

𝑆𝐴 = 4𝜋𝑟ଶ

𝑆𝐴 = 4(3.14)(5)ଶ

𝑆𝐴 = 314 𝑘𝑚ଶ = 100𝜋 𝑘𝑚ଶ

Square Based Pyramid

𝑏 = 6 𝑐𝑚

𝐻 = 4 𝑐𝑚 𝑠 = 5 𝑐𝑚

𝑆𝐴 = 15 + 15 + 15 + 15 + 36
𝑆𝐴 = 96 𝑐𝑚ଶ

𝑆𝐴 = 2𝑏𝑠 + 𝑏ଶ

𝑆𝐴 = 2(6)(5) + (6)ଶ

𝑆𝐴 = 60 + 36
𝑆𝐴 = 96 𝑐𝑚ଶ

6

5

  36 15

15

15

15

𝑉 =
1

3
⎯⎯× (𝑎𝑟𝑒𝑎 𝑜𝑓 𝑏𝑎𝑠𝑒) × ℎ

𝑉 =
1

3
⎯⎯× (𝑙 × 𝑤) × ℎ

𝑉 =
1

3
⎯⎯× (6 × 6) × 4

𝑉 = 48 𝑐𝑚ଷ

We don’t lay 
the cone flat 
until Calculus*.

Usually not a 
rectangular based 
pyramid on the test.

6

𝐺𝑖𝑣𝑒𝑛 𝑉ௌ௣௛௘௥௘ = 40𝜋 𝑚ଷ 

          𝑉 =
4

3
⎯⎯𝜋𝑟ଷ

     400𝜋 =
4

3
⎯⎯𝜋𝑟ଷ

        400 =
4

3
⎯⎯𝑟ଷ

3 × 400 =
4

3
⎯⎯𝑟ଷ × 3

        400 = 4𝑟ଷ

        
400

4
⎯⎯⎯ =

4𝑟ଷ

4
⎯⎯⎯

Divide both 
sides by 𝜋
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𝐹𝑖𝑛𝑑 𝑟 𝑖𝑛 𝑡𝑒𝑟𝑚𝑠 𝑜𝑟 𝐶.

  𝐶 = 2𝜋𝑟
𝐶

2𝜋
⎯⎯⎯=

2𝜋𝑟

2𝜋
⎯⎯⎯

   𝑟 =
𝐶

2𝜋
⎯⎯⎯

𝐹𝑖𝑛𝑑 𝑟 𝑖𝑛 𝑡𝑒𝑟𝑚𝑠 𝑜𝑟 𝑉

       𝑉 =
4

3
⎯⎯𝜋𝑟ଷ

3 × 𝑉 =
4

3
⎯⎯𝑟ଷ × 3

     3𝑉 = 4𝜋𝑟ଷ

     
3𝑉

4𝜋
⎯⎯⎯=

4𝜋𝑟ଷ

4𝜋
⎯⎯⎯⎯⎯

     
3𝑉

4𝜋
⎯⎯⎯= 𝑟ଷ

 ඨ
3𝑉

4𝜋
⎯⎯⎯

⎯⎯⎯
య

= ඥ𝑟ଷ
⎯⎯య

        𝑟 = ඨ
3𝑉

4𝜋
⎯⎯⎯

⎯⎯⎯
య

𝐹𝑖𝑛𝑑 𝑟 𝑖𝑛 𝑡𝑒𝑟𝑚𝑠 𝑜𝑟 𝐴.

   𝐴 = 𝜋𝑟ଶ

   
𝐴

𝜋
⎯⎯=

𝜋𝑟ଶ

𝜋
⎯⎯⎯

   
𝐴

𝜋
⎯⎯= 𝑟ଶ

ඨ
𝐴

𝜋
⎯⎯

⎯⎯
 

= ඥ𝑟ଶ
⎯⎯ 

    𝑟 = ඨ
𝐴

𝜋
⎯⎯

⎯⎯
 

𝑎𝑥 + 𝑏𝑦 = 𝑐
 −𝑎𝑥              − 𝑎𝑥

          
𝑏𝑦

𝑏
⎯⎯⎯= −

𝑎𝑥

𝑏
⎯⎯⎯+

𝑐

𝑏
⎯⎯

             𝑦 = −
𝑎

𝑏
⎯⎯𝑥 +

𝑐

𝑏
⎯⎯

Convert to 𝑦 = 𝑚𝑥 + 𝑏

  𝑃 = 2𝑤 + 2𝑙
96 = 2𝑤 + 2𝑙
96

2
⎯⎯⎯=

2𝑤

2
⎯⎯⎯+

2𝑙

2
⎯⎯

48 = 𝑤 + 𝑙
48 = 𝑤 + (𝑤 + 10)
−10                  − 10
38 = 2𝑤
38

2
⎯⎯⎯=

2𝑤

2
⎯⎯⎯

 𝑤 = 14

𝑤

𝑙 = (𝑤 + 10)

𝑤 = 14

𝑙 = 24

24 + 24 + 14 + 14 = 96

𝑙 = (𝑤 + 10)
𝑙 = 24

𝑃 = 96

𝑤

2𝑤

A rectangle's length is twice it's width. Find the 
Area if the Perimeter is 12 𝑚.

𝑙𝑒𝑡 𝑤 = 𝑤𝑖𝑑𝑡ℎ
𝐴 = 𝑙𝑤
𝐴 = 2𝑤 × 𝑤
𝐴 = 2𝑤ଶ

𝐴 = 2(2)ଶ

𝐴 = 8 𝑚ଶ

  𝑃 = 2𝑤 + 2𝑙
12 = 6𝑤
  𝑤 = 2

12 = 2(2) + 2(4)

8 = 2(2) × 2
Check

2
4

Words Problems
Diagram
Let Statements
Equation/s
(Arbitrary#'s)
Isolate
Substitute

Solve (Algebra)
Substitute
Solve
Answer in English!
Check Answer!
(Eliminate*)
Explain it to a 10 
year old!

𝐹𝑖𝑛𝑑 𝑉 𝑖𝑛 𝑡𝑒𝑟𝑚𝑠 𝑜𝑓 𝑑

       𝑉 =
4

3
⎯⎯𝜋𝑟ଷ

       𝑉 =
4

3
⎯⎯𝜋(

𝑑

2
⎯⎯)ଷ

       𝑉 =
4

3
⎯⎯𝜋

𝑑ଷ

8
⎯⎯⎯

       𝑉 =
1

6
⎯⎯𝜋𝑑ଷ

𝑑 = 2𝑟

𝑟 =
𝑑

2
⎯⎯
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